History Open Book REVIEW – World War II

Total - 30
Matching – Place the correct letter on the corresponding blank. (10)

1. Genocide ___

a. December 7, 1941
2. Fascist___

b. lightening war

3. Anti-Semitism___
c. a person to blame for the problems of others

4. Scapegoat___

d. attempt to kill all people of certain group/religion 

5. Hitler___

e. prejudice against Jews

6. 6 million___

f. to honour the state over the individual

7. Blitzhreig ___

g. “We shall fight…we shall never surrender!”
8. D-Day___

h. Holocaust victims murdered

 9. Pearl Harbor attack__  
i. head of Nazis

10. Winston Churchill __
j. June 6, 1944

Multiple Choice – lace the correct letter on the blank. (5)

1.The Allies included

a. France, Germany, Italy

b. France, Italy, Belgium

c. France, Great Britain, Japan

d. France, Great Britain, United States

2. The Axis Powers included

a. Germany, France, Italy

b. Germany, Spain, Italy

c. Germany, Italy, Japan

d. Germany, Japan, Spain

3. Concentration Camps were
a. build to imprison enemies
b. armed with gas chambers

c. first for political prisoners

d. all of the above

4. Nuclear power is

a. using atoms

b. using energy from atoms

c. using energy form water

d. using hydrogen peroxide

5. Pearl Harbor occurred

a. December 6, 1944

b. December 6, 1941

c. December 7, 1944

d. December 7, 1941

Short Answer Questions – answer in the space provided – if you need more room, use the back of the test. (15)

1. Provide and explain 3 causes of World War II (3)

2. Explain what the Maginot Line was and what Germany did to avoid it. (5)

3. Explain what happened on D-Day and the importance of this event.  Also, include when this event took place. (5)

4. When did World War II end? (2) – Trick Question here!!!
